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(7 marks)

Notes

(a)

M1: Applies cos26 = 1 — 2sin’8 in the numerator or sin28 = 2sinfcosf in the denominator

M1: Applies cos28 = 1 — 2sin’8 in the numerator and sin26 = 2sinfcosé in the denominator and
simplifies to obtain ksec’d

A1l: Correct expression

(b)

M1: Makes the connection with part (a), squares the RHS, applies sec” x =1+ tan” x and collects
terms to obtain a 3TQ in tan x

M1: Solves a 3TQ in tan x and obtains at least 1 value for x

Al: One correct value (allow — 0.785 for _%)

Al: Both correct and no other values in range (allow — 0.785 for —%)




